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The figures in the mai-gin indicate full marks
for the questions.

Answer either in English or in Assamese.

A& WA e Tl R

Answer question numbers 1, 2 and 3 and
any four from the rest.

1, 2 Wi 3 e Teq R @ I
AT AR R It wikee ge Rl
1. Fill in the blanks : 1x4=4
AT S 2 2 | '
(i) Data collected for the first time are 'called‘

2ATIITT @ TGRS OhF . Q|
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(i) ;i - X)=—-

- (iii) Cost of living index numbers are also known
s ,

(i) Eax+b) = aBx) + _____

Choose the correct answer : | 1x3=3
o TeI R 1 3

. v) IfAis an uncertain event associated' with
| : _ 'a random experiment then

ﬂﬁAWﬁﬁ?ﬁmm@q’mwﬁﬁs@
@B W (90T '

(3 0 <P(A)<1

(b) P(A)>0
(©) 0 < PA)<1

(d) None of the above.
QoI GBI w3y
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(vi) The relation between Mean Dev1at10n and
Standard Deviation is : -

mﬁwwmﬁm«m@ﬁw@ﬁ.'
' . (@ 3MD=28D

(b) 6 M-D =5 Sb

(©) SM-D =4 SD
(d MD =8D
¥ - (vii) If the cofrelation coefficient between X and

| Y is negative then the regression coefficient
of Y on X is:

ﬂﬁxwwwam%almm
X3 soge Yﬁwmam@m%q’a. o

(a) Posmve
. AT
(b) Negative
. I
y (c) Not certain
| Bifve wa |

i : Answer the following questions :
" o eMERT Sew forl e

(viii) Mention the pammeters of Binomial distri-
bution. _ 1

;- fRelw TG AGCILH! ToEd T
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(ix) What is the probability of getting no heads
when two uniform coins are tossed ? 1

Eﬁwmemﬁwqaﬁmmqe
AR SIS =i - 2 '

(x) Write down the empirical relationship among

Mean, Median and Mode. 1
T4y, NG I ISR NS wﬁsﬁas H=oIRCO!
%ﬁm

"2, - (a) Write down the differences between ‘Classi-
" fication of data’ and ‘Tabulation of data’.
2
@R caéﬂzm oF SAF @rf%rzmwcﬁ wtaﬁsr
ferami
(b) Mention the different components of time

series with an example of each. 2

AT ATIIBICT WWW% Rfew
BT e

(c) Prove that r= + \/byx x bxy . 2
(d). What is ‘Judgement Sampling’ or ‘Purpoéive
Sampling’ ? 2

i AfHE af‘w%ﬁlﬁ?sa%mwfﬁs?
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(e MéntiOn any two utilities of Interpolation.
- ] . ‘ " . | . 2
R R @I B SR SEd 311

3. | Answer any four of the following questions :
' ‘ 5x%4=20

S R Ny S

(a) Define Standard Deviation. Why is it called
the best measure of dispersion ?

WWH@WIWW%’T«
mmﬁﬁma?

(b) From the following data compute coefficient
of correlation between X and Y:

oo Wal SRR #[’ X Wi Yasn@ﬁw
edikE W T

Y
(i) Mean (Sg) 41 8
(ii) Sum of squaresv of
deviations from mean 281 76
| WYR o[ e Reee

35fq 7S
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- (iii) Sum of products of deviations of X and
Y from their mean is 46.

X 9% Y 5o AR o[ el Roerd
QIFT FAB A 461

.. (iv) Number of pairs of values = 7
@R AT A2 = 7
(c) Mention the chief vcharactcristi.cs of normal
probability distribution.

amwﬁ@ﬁ@wamtaﬁm‘sgw
| ~

(d) Calculate' Laspeyre’s and Paasche’s indices
from the following data :

‘Wsmwwmwmw@

Ay w1 s

) Base year | Current year

C'om;odlty R f Shre T
Price |Quantity | Price |Quantity
Ty | ok | em | sifkse

A 6 50 10 56

B 2 | 100 3 125

- C 4 | 60 6 64

D 10| 30 | 13 [ 24
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Distinguish between Process control anci
Product control.

@QW&WWW@QWWW
e sty ol | :

A and B appear in an interview for two
vacancies in the same post. The probability
of A’s selection is 1/7 and that of B’s
selection is 1/5. Find the probability that

(i) None of them will be selected.

(ii) Only one of them will be selected.

A SIF BGE <6l AW B A AR @

- ArveiY e | AR Rdifte @aﬁmﬁ@r 177

4. (a)

wie B3 fite caR eIkt 1/5
() TR o Fifte @R FEIker

Refa Sall

(ii) oS WE G ﬁa‘ﬂ%@ @RI
Feifel AT 4

Discuss the main steps to be considered in -
the construction of index number. 6

TR o TACS GHY TR el
TR SIS 3 |
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(b) Write a note oh Skewness. 4

wefeuy A AN R @B G e

5. (a) Calculate mean and variance of the following
frequency distribution : _ 6

TR IR RETAGE WG S 2R
Rfm =i

Weight (kg) |44-46] 46-48[48-50
e (e | '

No. of students| 3 24 27
QIET HA

Weight (kg) | 50-52| 52-54
aow (F.21)

No. of students| 21 5
Q- AN

(b) Write briefly about the limitations of
Statistics. 4

- fen
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6. (a) From the following bivariate data regérding
marks scored in Economics (X) and marks
scored in Statistics (Y), find the two

regression lines :

6

gdFifes eidt 999 (X) S «iRon Reme
AR TR (Y) A oo G wUR o
IEE @A goE [T s

X : |25 28| 35 | 32| 31
(Y): [43| 46 | 49 | 41| 36 -
X : [36] 29| 38 | 34| 32
W : [32] 31| 30 | 33[ 39

(b) Find E(X) and Var(X) for the following
probability distribution of X :

Xzﬁﬂﬁﬂ@ﬂ@ﬁ@fmmE(X)w

4

X 1 |2 |3 |4]5]|°¢
PX): |1/6 | 1/6 |1/6 | 1/6 | 1/6 | 1/6
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7. (a) Given that, f{0)=10, f(2) = 13, f(4) = 23
and f(6) = 41. Find f(3). 6

f Wi, £(0)=10, f(2) = 13, f(4) = 23
wiw f(6) = 41, f3)R W Fefa w1

) Mention the objectives of Statistical quality

control. 4
ARTIIT @l ﬁﬂfm W ee: L
B

8. (a) Calculate trend values from the following
~ data by using 4 yearly moving average
method : 6
weTe fAal ©UR o[t 4 IR v TS ARSI
aRerel AT w4t
| Year : 2010 | 2011 | 2012 | 2013
1= |
Production , ‘ _
(’000 tons) : 80 | 9 | 92 83
Feotww *000 T |

Year : ‘ 2014 | 2015 | 2016 | 2017
Production
(000 tons) : 94 99 92 | 88

T *000 B
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(b) If A, B and C are mutually exclusive and
exhaustive events and P(A) = 1/2P(B), P(B)
= 2/3 P(C), then find P(A), P(B) and P(C).

4

T A, B 9I% C #ig [dRre Siws 5=l <61
= W% P(A) = 1/2P(B), P(B)= 2/3 P(C),
C9TE P(A), P(B) WIF P(C)a Refa =111

9. (a) Draw a Pie diagram from the follovﬁng data :

4
ool OUR SR @Bl g8 Ba o 98
Heads -  Expenditure
iR ' (Rs. in crores)
| | 5 (I Tre)
Agriculture | 12,000
w® |
Industry ‘ " 9,000
Toatat |
Imigaton - | -~ 6000°
- Communication : 8,000
. wEREe ,
Education 5,000
ot
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(b) Write shortnotes on any two of the following : |
3x2=6

R R e ¥oiR 5y, G foar e
(i) Characteristics of a good average
(i) Null hypothesis and alternative hypothesis -

(iii) Properties of a good estimator

(iv) Chain Base Index Number.

e fofeRy T |
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